CearAl [f1, f2, 3, L1, L2, Ym Al, A2, cl, c2, c3, Xx]

L1=2

L2 =3
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fl[x_]:=Piecewise[{{l1-x/L1, x<L1}, {0, x >L1}}]

f2[x_]:=Piecewise[{{x /L1, x<L1}, {1-(x-L1) /L2, x>L1}}]
f3[x_]:=Piecewise[{{0, x <L1}, {(Xx-L1) /L2, x>L1}}]
U[X_]:=clfl[x]+c2f2[x] +c3f3[x]

u[x]
. 0 X <2 2 X <2
c1 |1t 2 X<2) 3 LC2ix) xs>2 | +c2 2-x
+ = (- + X
0 Tr ue 3( +X) > 1+ 3 X >2
0 True 0 True

u[0] // Eval uate
cl

Pote = YmAl/2Integrate[u’ [x]1"2, {X, 0, L1}, Assunptions -» L1 > 0] +
YmA2 /2 Integrate[u’ [x]1"2, {Xx, L1, L1+L2}, Assunptions -» {L1>0, L2 >0}] -
Qu[0] -Fu[Ll1+L2] //Sinplify
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D1 = D[Pote, c17;
D2 = D[Pote, c2];
D3 = D[Pot e, c37;
Res = Assumi ng[L1 > 0&&L2 > 0, Solve[{D2 == 0, D3 == 0}, {c2, ¢c3}1] // Sinplify
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€2 =Res[[1]]1[[1]1]1[[2]]
€3 =Res[[1]]1[[2]1]1[[2]]
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Solve[Dl =0, Q] // Sinmplify
{{Q- -F}}

Sol ve[u[0] =0, c1] // Sinplify
{{c1->0}}
cl=9%[[1]1[[11]1[[2]]
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